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	Q1. 
	The cellular concept employs variable _____levels, which allows cells to be sized according to the subscriber density and demand of the given are 

	Option A:
	 Low power

	Option B:
	 High power

	Option C:
	 Low Frequency

	Option D: 
	High Frequency

	
	

	Q2.
	Which of the following is not a limitation of AMPS ?

	Option A:
	 Low calling Capacity

	Option B:
	 Poor privacy Protection

	Option C:
	 Limited Spectrum

	Option D:
	Wide coverage area

	
	

	Q3.
	Interference effects in cellular systems are a result of ______

	Option A:
	 the distance between areas

	Option B:
	 the power of the transmitters

	Option C:
	 the ratio of the distance between areas to the transmitter power of the areas

	Option D:
	the height of the antennas

	
	

	Q4.
	For a cellular network to provide good quality of service (QoS) in indoor and outdoor environments__________ and___________should be incorporated into the design. 

	Option A:
	 traffic, planning

	Option B:
	 flexibility, resilience

	Option C:
	 traffic, flexibility

	Option D:
	 planning, resilience

	
	

	Q5.
	Although the mobile antenna gain does not affect the balancing of the ________________, it is an important factor in the design of the power budget for the handset coverage.

	Option A:
	 frequency budget

	Option B:
	 link budget

	Option C:
	 system design

	Option D: 
	 power design

	
	

	Q6.
	A system should be designed to allow the antenna of a handset to be placed in ____________positions.

	Option A:
	 Optimal

	Option B:
	 bi-directional

	Option C:
	 Directional

	Option D: 
	 non-optimal

	
	

	Q7. 
	An overestimation of path loss will lead to an inefﬁcient use of network resources, whereas an underestimation will result in poor __________

	Option A:
	radio coverage

	Option B:
	 Gain

	Option C:
	 Design

	Option D: 
	 hand-off

	
	

	Q8. 
	Critical factor that affects radio coverage is _______________for both buildings and vehicles.

	Option A:
	 insertion loss

	Option B:
	 penetration loss

	Option C:
	 multipath loss

	Option D: 
	 feedback loss

	
	

	Q9.
	The coherent interaction of signals in UWB arriving by many paths causes ____________

	Option A:
	 Ricean fading

	Option B:
	 Nakagami fading

	Option C:
	 Rayleigh fading

	Option D: 
	 Multicast fading

	
	

	Q10. 
	Which of the following is not true for UWB?

	Option A:
	 Large spectrum

	Option B:
	 Lower price

	Option C:
	 Pulse data

	Option D: 
	 Large interference

	
	

	Q11. 
	Which of the following statements about radio frequency identification (RFID) is not true?

	Option A:
	 RFID systems transmit radio signals over long distances.

	Option B:
	 RFID systems use tiny tags with embedded microchips containing data about an item and its location.

	Option C:
	 RFID systems provide a powerful technology for tracking the movement of goods throughout the supply chain.

	Option D: 
	Companies may be required to upgrade hardware and software to accommodate the massive amounts data that are being produced by RFID systems.

	
	

	Q12. 
	WiMAX stands for ___________

	Option A:
	 wireless maximum communication

	Option B:
	 worldwide interoperability for microwave access

	Option C:
	 worldwide international standard for microwave access

	Option D:
	 wireless internet maximum communication

	
	

	Q13.
	WiMAX provides ________

	Option A:
	 simplex communication

	Option B:
	 half duplex communication

	Option C:
	 full duplex communication

	Option D: 
	 no communication

	
	

	Q14. 
	WiMAX uses the _________

	Option A:
	 orthogonal frequency division multiplexing

	Option B:
	 time division multiplexing

	Option C:
	 space division multiplexing

	Option D: 
	 channel division multiplexing

	
	

	Q15.
	WiMAX provides _______

	Option A:
	 VoIP services

	Option B:
	 IPTV services

	Option C:
	 Both VoIP and IPTV services

	Option D: 
	 no IPTV services

	
	

	Q16. 
	The mobility management place is used for

	Option A:
	 detection of movement of sensor nodes

	Option B:
	 Modulation

	Option C:
	 Multiplexing

	Option D: 
	 Encryption

	
	

	Q17.
	A sensor can be classified as

	Option A:
	 Active Sensor or Passive sensor

	Option B:
	 Live sensor

	Option C:
	 All sensors with same size

	Option D:
	 Cannot be classified as active or passive sensor

	
	

	Q18.
	The area in which the sensor nodes are scattered are called as 

	Option A:
	 Topology

	Option B:
	 Region

	Option C:
	 Sensor fields

	Option D: 
	 Sensor

	
	

	Q19. 
	Each and every sensor in that field collects data and through different routes sends it to the 

	Option A:
	 Router

	Option B:
	 Coordinator

	Option C:
	 To other sensors

	Option D: 
	 Gateway

	
	

	Q20.
	Task Management plane is responsible for

	Option A:
	 Scheduling sensing tasks

	Option B:
	 Routing

	Option C:
	 Modulation

	Option D:
	 Encryption

	
	

	Q21.
	In data centric storage method the data is stored depending on the ______ and at home nodes where the data may not be collected

	Option A:
	 type of event

	Option B:
	 number of event

	Option C:
	 priority of event

	Option D: 
	 availability of event

	
	

	Q22. 
	In Multi resolution storage (MRS) data are divided into

	Option A:
	 Layers

	Option B:
	 Levels

	Option C:
	 Single directory

	Option D: 
	 Multiple directory

	
	

	Q23.
	Data dissemination protocols which are related to routing protocols are required to provide an effective 

	Option A:
	 Data storage

	Option B:
	 Data encryption

	Option C:
	 Data transmission

	Option D: 
	 Both data storage and encryption

	
	

	Q24. 
	The Network Management process of controlling a complex data network to

	Option A:
	 maximize its efficiency

	Option B:
	 reduce its efficiency 

	Option C:
	 reduce its complexity 

	Option D: 
	 reduce productivity

	
	

	Q25.
	Simple Network Management Protocol includes ___ components

	Option A:
	 3

	Option B:
	 4

	Option C:
	 5

	Option D: 
	 6
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